

Page: 1 of 4

N/A PLEASE NO	N/A	N/A	Α	PO Date: 07/06/2023	PO End Date:	PO Method: DG	Dispatch: Dispatch Via P	Rev Dt:
	IE: ADDITIONAL TERM			AY BE LISTED	AT THE END OF TH		•	
Vendor:	LABATT INSTITUTIONA P O BOX 137 SAN ANTONIO TX 7829 United States		) INC		Ship To:	44 A	exas Workforce Coi 800 N LAMAR BLVI USTIN TX 78756 nited States	
					Bill To:	А	PPO@twc.texas.go	v or
Vendor ID:	1741599564 000					10 R	exas Workforce Co 01 E 15TH ST M 470	
Phone:	MaryLou Ochoa						USTIN TX 78778-0 nited States	001
Fax: Email:	marylou.ochoa@twc.tex	as.gov				т	WC Prefers Electro	onic Submissio
PO Informa Term 385-G								
TWC POC: Mandy Fred mandy.frede	lerick erick@twc.texas.gov							
Gerard King	g @twc.texas.gov							
Ship to Cor		2020 4000 N		A .: TV 7075				
please add	delivery address to PO- (	CCRC 4800 No	rth Lamar,	Austin, TX 7875	6			

1-1	Commodity Code # 38506190453 Labatt # 9240035 Garlic Bread Stick, 7"- 8" 1/125ct	385/06	1.0000	CS	\$23.22000	\$23.22	07/12/2023
	,			<u>Reql</u> 0000	<u>ID:</u> 0043090	Schedule Total	\$23.22
					Item	Total for Line #1	\$23.22

**Authorized Signature** 

Sonya Bebley, CTCD, CTCM



Page: 2 of 4

Line-Sch: 2-1	Line Description: Commodity Code # 38542400205 Labatt # 11405 Beef, Inside Top Round, NAMP 168, 70lb avg	PCA:	<b>Class/Item:</b> 385/42	<b>Quantity:</b> 100.0000	UOM: LB	Unit Price: \$2.96000	Extended Amt: \$296.00	<b>Due Date:</b> 07/12/2023
	9				ReqID: 000004	3090	Schedule Total	\$296.00
						Item <sup>-</sup>	Total for Line # 2	\$296.00
Line-Sch: 3-1	Line Description: Commodity Code # 38542401019 Labatt # 8914137 Androille Rope	PCA:	<b>Class/Item:</b> 385/42	Quantity: 2.0000	UOM: CS	Unit Price: \$43.08000	Extended Amt: \$86.16	<b>Due Date:</b> 07/12/2023
	Sausage, 1/12lb				<u><b>ReqID:</b></u> 000004	3090	Schedule Total	\$86.16
						Item <sup>-</sup>	Total for Line # 3	\$86.16
Line-Sch: 4-1	Line Description: Commodity Code # 38542401435 Labatt # 8911435 Pork Stew Meat, 1" Cube, NAMP 435, 3/5lb	PCA:	<b>Class/Item:</b> 385/42	<b>Quantity:</b> 70.0000	UOM: LB	<b>Unit Price:</b> \$2.64000	Extended Amt: \$184.80	<b>Due Date:</b> 07/12/2023
	1 Gube, 14/1/11 433, 3/3/b				ReqID: 000004	3090	Schedule Total	\$184.80
						Item <sup>-</sup>	Total for Line # 4	\$184.80
<b>Line-Sch:</b> 5-1	Line Description: Commodity Code # 38542402095 Labatt # 5471052 Sandwich Meat	PCA:	Class/Item: 385/42	Quantity: 4.0000	UOM: CS	Unit Price: \$40.09000	Extended Amt: \$160.36	<b>Due Date:</b> 07/12/2023
	Combo Pack, 12/1lb				<u><b>ReqID:</b></u> 000004	3090	Schedule Total	\$160.36
						Item <sup>-</sup>	Total for Line # 5	\$160.36

Authorized Signature
Sonya Bebley, CTCD, CTCM

Sonya Bebley, CTCD, CTCM



Page: 3 of 4

Line-Sch: 6-1	Line Description: Commodity Code # 38542402511 Labatt # 5452511 Ground Beef, Bulk, 80/20 Reg Grind, 4/10lb	PCA:	Class/Item: 385/42	Quantity: 130.0000	UOM: LB	<b>Unit Price:</b> \$2.61000	Extended Amt: \$339.30 Schedule Total	<b>Due Date:</b> 07/12/2023 \$339.30
					ReqID: 0000043	3090		
						Item '	Total for Line # 6	\$339.30
Line-Sch: 7-1	Line Description: Commodity Code # 38542406673 Labatt # 8941403 Salisbury Steak,	PCA:	<b>Class/Item:</b> 385/42	Quantity: 2.0000	UOM: CS	<b>Unit Price:</b> \$73.19000	Extended Amt: \$146.38	<b>Due Date:</b> 07/12/2023
	FC, 114/3z				<u><b>ReqID:</b></u> 0000043	3090	Schedule Total	\$146.38
						Item <sup>·</sup>	Total for Line # 7	\$146.38
Line-Sch: 8-1	Line Description: Commodity Code # 38544330202 Labatt # 8661235 Chicken Breast, IQF, Bone-In, 1/40Ib	PCA:	<b>Class/Item:</b> 385/44	<b>Quantity:</b> 4.0000	UOM: CS	Unit Price: \$69.18000	Extended Amt: \$276.72	<b>Due Date:</b> 07/12/2023
	Tell, Botto III, 174015				RegID: 0000043	3090	Schedule Total	\$276.72
						Item <sup>·</sup>	Total for Line #8	\$276.72
Line-Sch: 9-1	Line Description: Commodity Code # 38544331705 Labatt # 8878541 Diced Chicken,	PCA:	Class/Item: 385/44	Quantity: 2.0000	UOM: CS	Unit Price: \$56.90000	Extended Amt: \$113.80	<b>Due Date:</b> 07/12/2023
	FC, 1/2", Lo-Sod, 2/5lb				RegID: 0000043	3090	Schedule Total	\$113.80
						Item <sup>·</sup>	Total for Line # 9	\$113.80

Authorized Signature Sonya Bebley, CTCD, CTCM

Sonya Bebley, CTCD, CTCM



Page: 4 of 4

					ReqID: 0000043	3090	Schedule Total	\$104.07
						Item To	tal for Line # 10	\$104.07
11-1	Line Description: Commodity Code # 38547311423 Labatt # 8968059 Corn Dog, Pork & Beef, FC, 48/4z	PCA:	Class/ltem: 385/47	Quantity: 2.0000	UOM: CS	Unit Price: \$20.29000	Extended Amt: \$40.58 Schedule Total	Due Date: 07/12/2023 \$40.58
					0000043	Item To	tal for Line # 11	\$40.58 \$1,771.39

All Shipments, Shipping papers, invoices and correspondence must be identified with our Purchase Order Number. Over shipments will not be accepted unless authorized by Purchaser prior to Shipment.

#### IMPORTANT CONDITIONS OF ORDER

This will be your authority to deliver, in accordance with instructions above and the terms of any existing contract agreement, accepted informal bid or quotation, the articles or services listed below. Containers, invoices and correspondence relative to this order must bear the purchase order number. Unless otherwise stipulated, freight charges are included in the unit price. If we previously agreed to pay transportation charges, shipments are to be made prepaid FOB destination and charges added to the invoice.

- \* PAYMENT cannot be made until ALL items on this order are received, inspected and accepted unless we previously agreed to a partial payment.
- \* ALL Invoices MUST match this PO by Line Number, Description, Quantity, Amount and include Delivery Date for Prompt Payment.
- \* Purchase subject to TWC Terms and Conditions (Attachment I).

The State of Texas is exempt from all Federal Excise Taxes.

Tax Exempt ID -742764775.

STATE and CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described on this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Authorized Signature
Sonya Bebley, CTCD, CTCM

Sonya Bebley, CTCD, CTCM